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Table 1 The state probabilities p,, L and W, vs. A
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A Do D1 D2 Ds D4 Ds Ds L W, P,
0.00 | 1.0000 | 0.0000 | 0.0000 | 0.0000 | 0.0000 | 0.0000 | 0.0000 0.0000 | 0.0000 1.000
0.05 | 0.7167 | 0.2376 | 0.0408 | 0.0045 | 0.0003 | 0.0000 | 0.0000 0.3341 | 0.0509 0.9951
0.10 | 0.4750 | 0.3480 | 0.1362 | 0.0346 | 0.0057 | 0.0006 | 0.0000 0.7498 | 0.2248 0.9592
0.15 | 0.2872 | 0.3485 | 0.2314 | 0.1003 | 0.0279 | 0.0044 | 0.0003 1.2477 | 0.5349 0.8671
0.20 | 0.1584 | 0.2828 | 0.2818 | 0.1830 | 0.0752 | 0.0172 | 0.0016 1.7918 | 0.9502 0.7230
0.25 | 0.0810 | 0.1994 | 0.2780 | 0.2515 | 0.1415 | 0.0433 | 0.0052 2.3240 | 1.4050 0.5584
0.30 | 0.0394 | 0.1283 | 0.2393 | 0.2874 | 0.2110 | 0.0823 | 0.0122 2.7981 | 1.8375 0.4070
0.35 | 0.0187 | 0.0783 | 0.1891 | 0.2914 | 0.2696 | 0.1297 | 0.0231 3.1964 | 2.2151 0.2861
0.40 | 0.0089 | 0.0465 | 0.1421 | 0.2738 | 0.3112 | 0.1800 | 0.0375 3.5221 | 2.5310 0.1975
0.45 | 0.0042 | 0.0274 | 0.1037 | 0.2451 | 0.3357 | 0.2290 | 0.0549 3.7872 | 2.7914 0.1353
0.50 | 0.0020 | 0.0162 | 0.0747 | 0.2128 | 0.3458 | 0.2741 | 0.0744 4.0041 | 2.0061 0.0929
0.55 | 0.0010 | 0.0096 | 0.0535 | 0.1814 | 0.3451 | 0.3140 | 0.0954 4.1837 | 3.1847 0.0641
0.60 | 0.0005 | 0.0058 | 0.0383 | 0.1529 | 0.3369 | 0.3483 | 0.1174 4.3342 | 3.3347 0.0446
0.65 | 0.0003 | 0.0035 | 0.0275 | 0.1281 | 0.3239 | 0.3771 | 0.1397 4.4619 | 3.4622 0.0313
0.70 | 0.0001 | 0.0022 | 0.0198 | 0.1069 | 0.3079 | 0.4008 | 0.1622 4.5716 | 3.5718 0.0221
0.75 | 0.0001 | 0.0013 | 0.0144 | 0.0892 | 0.2905 | 0.4200 | 0.1845 4.6668 | 3.6668 0.0158
0.80 | 0.0000 | 0.0009 | 0.0105 | 0.0744 | 0.2725 | 0.4352 | 0.2065 4.7501 | 3.7501 0.0114
0.85 | 0.0000 | 0.0005 | 0.0077 | 0.0621 | 0.2546 | 0.4470 | 0.2280 4.8236 | 3.8236 0.0082
0.90 | 0.0000 | 0.0004 | 0.0057 | 0.0520 | 0.2373 | 0.4558 | 0.2488 4.8889 | 3.8889 0.0061
0.95 | 0.0000 | 0.0002 | 0.0043 | 0.0436 | 0.2207 | 0.4621 | 0.2691 49474 | 3.9474 0.0045
1.00 | 0.0000 | 0.0001 | 0.0032 | 0.0367 | 0.2050 | 0.4663 | 0.2887 5.0000 | 4.0000 0.0033
1.20 | 0.0000 | 0.0000 | 0.0011 | 0.0189 | 0.1522 | 0.4678 | 0.3600 5.1667 | 4.1667 0.0011
1.50 | 0.0000 | 0.0000 [ 0.0003 [ 0.0076 | 0.0986 | 0.4458 | 0.4478 5.3333 | 4.3333 0.0003
1.90 | 0.0000 | 0.0000 [ 0.0000 | 0.0026 | 0.0577 | 0.4030 | 0.5367 5.4737 | 4.4737 0.0000




